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Part - A : Time : | Hour/ Marks : 50

Part - B: Time: 2 Hours/Marks : 50

(Part - A)
Time : 1 Hour] IMaximum Marks : 50

1) There are 50 objective type (M.C.Q.) questions in Part - A and all questions
are compulsory.

2) The questions are serially numbered from 1 to 50 and each carries 1 mark.

3) Read each question carefully, select proper alternative and answer in the
O.M.R. sheet.

4) The OMR sheet is given for answering the questions. The answer of each
question is represented by (A) O, (B) O, (C) O, (D) O. Darken the
circle g of the correct answer with ball-pen.

5) Rough work is to be done in the space provided for this purpose in the Test
Booklet only.

6) Set No. of Question Paper printed on the upper-most right side of the Question

®

(C) Glycosidic bond

(¥ Disulphide bond

Paper is to be written in the column provided in the OMR sheet,

In mature insulin, chain A and chain B interlinked by which Rough Work
bond?

(%) Peptide bond

(B) Hydrogenbond
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¢ there are 80 Cheeth's ];:msel'll;;1 ﬂ:-:i‘;:;rht:
rate is 4 and death rate is 2 and six (6) new c:hﬁﬂt“;"hat '~ the
immigration and 3 dccreases‘by emlgr?tl??n.

population density of Cheeth's in that habitat:

85

B) 90
(C) 83

(D) 93
<

2) Onceina habita

‘ ive radiation
3) Whatis the percentage of photosynthetically active

(PAR) in the incident solar radiation?

(A) 100%
(B) <20-30%

\/(,9)/550%

(D) <2-10% _

4)  Which of the following naturalist established species - area
relationships?
{A) Paul Ehrlich
(B) Robert May

\_}annder\fon Humboldt
(D) David Tilman
;f

| .5) ~ Emasculation in angiospermic plant is
| Mcmovalof anther
(B) Removal of petals
{€C) Removal of style
. i_];_)) Removal of calyx

6) Inwhich process sperm is directly introduced into ovum?
{A) AI
(B) ZIFT

L ericsi

(D) GIFT
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k) WRNApol}mmlllism‘ueh“ o of

which ¢
tRNA

(B) 185rRNA
(C) mRNA
(D) hnRNA

é)\ In a population frequency of M allele is 0.8. Calculate the

s homologous recessive allele in that population.
(A) %
4%
S(g) 32%
(D) 10%
9) Which bioactive molecule is produced by Trichoderma
polysporum?
(A) Streptokinase
(B) Pectinase

\Mgclosporin A

(D) Lipases

10) Which metals are used in gene gun for the insertion of alien
DNA in competent host?

(A) Goldand Zinc

Gold and Tungsten '
(C) Copperand Gold :
(D) Tungstenand Iron

LN

11) Inwhichdiscase « - 1 antitrypsin is uscd to treat?
(A) Asthama
(B) Common cold
gl Pneumonia

Mphy sema

PTS36(10) 3



éﬂple“ .On the

e aged P £ age

-reproductiv .
reep ,-Bpresentatmn O

12) ' "India is a country of p
12) "Indiai ‘< the

basis of this statement, what
pyramids for Indian?

(A) Declining

(B) Stable

(C) [Irregular

\/@/Expandmg

13) Detritus food chain begin from
(A) Phytoplanton
ead organic matter
(C) Zooplanton '
(D) Grass

14) In which of the following, thalamus contributes to fruit
formation?
(A) Mango
(B) Sapota

\_/(Q/lgﬁ'awbeny

(D) Orange

15) Invasectomy, a small part of which of'th ine
’ e follow
sterilisation? ollowing is cut for

\_/@‘O/i’as deferens
(B) Urethra
(C) Vasaefferentia
(D) Rete Testis

16) How many years a
220 modern man H'Omo sabi
A% 1,00,000 - 90,000 Piens arose?
(B} 5,000 - 4,000
{C) 1:50,000 - 1,30,000 :.

B 75,000 - 10,000

DTS36 (10)




17) C :
bacteria themselves because -

(A) Bacteriaare resistant to the toxin
oxin is inactive

(Q/-Toxin is mature

(D) Bacteria encloses toxin in @ special sac

18) Which of the following layer of micr
nutrition to developing pollen grains?

(A) Epidermis
(B) Middle layer
(C)- Endothelium

(DY Tapetum

19) Which of the following hormone is secreted in high amount

causing ovulation in women?
(A) Estrogen
Luteinizing Hormone (LH)
(C) Follicle Stimulating Hormone (FSH)

(P} Androgens

20) Statutory ban on 'amniocentesis’ for which test
(ﬁl_ Down's syndrome
(B) Sickle-Cell ancmia
(C) Haemophilia

\9/55): determination

21) InKklinefelter syndrome
(A) _Monosomy of 23" pair of chromosome
risomy of 23" pair of chromosome

(C) Monosomy of 21% pair of chromosome
(D) Trisomy of 21* pair of chromosome

DTS36(190) 5

rystals Bt toxin produced hy some bacteria do not kill the

o-sporangium provides

Roug}t




paniné: calculate
b2 ==

—

t
e stranded DNA has 35 percel="

22) If a doubl e DNA.

the percent of thymine in
35%

G 79
15%

Dy 30%
' : lution?
23) Which is the correct example for dlve_rgcl.lt-ﬁ"o i
1 1
Thorn of Bougain villea and tendril of cucur

g)fFlippers of Penguins and Dolphins
(C) Octopus and human.ey¢
(D) Sweet potato root and potato stem

24) Secretion of interferon is which type of barrier?
(A) Physical barrier
(B) Cytokine barrier
(C)- Cellular barrier

;D)/ngsiological barrier

25) Match the columnland Il

Column - I Column - I1
(P) Aspergillusniger (i) Aceticacid
(Q) Acetobacter aceti | (i) Butyric acid
(R) Clostridium butylicum (i1i) Citric acid
(S) Lactobacillus i :
: (iv) Lactic acid l

-

(P-iii) (Q-1i) (R-ii) (S -iv)
(C) (P-ii)(Q-i) (R-iv) (S - jj)
(D) (P-i) (Q-iii) (R -iv) (S -ii)

DTS36 (10)
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26) Eco-Rlcuts the DNA between ______0111}{' when the sequence Roll

GAATTC is present inthe DNA..

\M;d A

®B) Tand C

~,U.'E-)"..'ﬂ‘u.ade

(D) Aand A

27) Goldenriceis enriched with which vitamin?

Mamiﬂ A

(B). VitaminC
(C) VitaminB

(D) VitaminD

28) Match column I and Column Il by suitable manner
Column - [ [ Column - 11
(P) Lichens (i) Parasitism

(Q) Abingdontortoise | (ii) Commensalism

and goat
(R) Seaanemone and (ii1) Competition
clown fish
(S) Human and liver (iv) Mutualism
fluke L
(A) (P -i) (Q-ii) (R-iii) (S-iv)
(B) (P-iii) (Q-iv) R-ii) (S-1D i

SO~ ®-iv)(Q-iip) (R-D(S-i) —

M V) (Q - iii) (R - ii) (S - 1)

DTS36 (10) ;




: t
29) ‘Choose the correct option for given statemen

(T =True, F= False) bt
(i) id of energy is always uprlgh v invert ed
(ii) Pyramid of number in seais gcnefa] y l'mre,ﬂed
(iii) Pyramid of biomass in sea is generall}’ lb and energy
(iv) Inmost ecosystem the pyram id of number

are always inverted

(A) FTFT
B) TFTT

FFTF
\&FTF

30) What is the main cause of biodiversity losses of Amazon rain

T

forest?
Habitat loss and fragmentation

(B) Alien species invasions
(C). Overexploitation
(D) Co-extinctions

31) Ingiven figure, megasporogenesis is shown in angiosperms -
What are ploidy in given "X' and 'Y" respectively?

.

32) Whichgland help in the lubrication of the penis during coitus?
(A) Prostate glands ) |

AB¥Bulbourethral glands
(C) Seminal Vescicles

(D) Testis

DTS36,(10) -



33) LNG-2 is _
( ormone releasing TUD
Vaults

(B) -
O Copper,releasmg IUD

(D) Non-medicated TUD

34) What is represented by following cross?
Tt > tt
LAY Test cross
(B) Dihybrid cross
(C) Co-dominance
" (D) Incomplete dominance

35) The length of DNA double helix in human sperm 1s
approximately : .
(A) 1.36 mm
22m
(C) 1.1m
(D) 2.2mm

36) The brain capacity of Neanderthal man was

(Ay900 cc
(B) 650 cc

Mﬁo cc

(D) 800 cc

37) Chemical structure of which drug is given below?

(A) Amphetamine
(B) Cannabinoids
(C) Barbiturates

\_/(Pﬁ’ﬁarphiue
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Rough
the yeast monoscus

blood cholesterol
habiting the
nthesis of

(A)- The statin produced by
purpureus lowered the
Statin act as by competiti»:ely in
enzyme responsible for sy
cholesterol

38) Assertion

Reason (R) -

“A and R both are correct R is correct explanation of A

(B) AiscorrectandR 1S wrong
(C) Aand R both are correct R is not correct explanation of A

(D) AiswrongandR 1s correct

39) The amp® gene contain the recognition sites for which
endonucleases in pBR 322 .

,'(r&;”"PVU Il and Pvul
PstIland Pvul
(C) Salland BamHI
(D) PstlandSall

40) Which part of tobacco plant is infected by nematode

meloidogyne incognita?
(A) Stem

~B) L

(D) Fruit

41) Which of the following is cotrect equation for Verhulst Pear]

Logistic growth?
(A) dN/dt=rN
(B) N,=Nge"
r’K N
}p’/dN!’df =rN| -
. K
I
BN rde = rn| 2
\K - N
DTS36 (10)
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42) The sccond trophic level in a lake is
(A} Phytoplankton

(B) ae
Zooplankton

(D) Fishes

t
43) Which of'the following is not the part ut‘insim____c_ml___sﬂl"v’ﬂ_li(-m-?
. Mimml Park
(B) Biosphere reserve
(C) Sanctuarics
(D) Zoological parks

44) Which pollinating agent is responsible for pollination in water
hyacinth and water lily?
(A) Wind, Water
(B) Insects, Water
nsects, Wind
(D) - Only Water

45) MTPs arc considered relatively safe during the
(A) 30 weeks
(B) 18 weeks
(C) 24 weeks
12 weeks

46) Ingiven chart, which mendelian disorder is represented?

5 m &h o O
Sohden

(A) Autosomal dominant trait

\_(E)’_,Sex linked dominant trait
(Q)/Kutosomal recessive trait

(D) Sex linked recessive trait

DTS36 (10) 11



ed to grow for 60 minutes th

N i llow j
@ IFE.coli We2 ® oportions of ligh

be the respective pr
DNA molecule?

(A) 1:1

3:1
(C)y 1:3
(D) 7:1

48) “Single step, large mutation is known as saltation.” This
statement is given by

(A)_-Darwin
(B) Thomas Malthus
(C lugo de vries
(D) Lamark
AN
49WiCh fungus is taking part in the formation of mycorrhiza?
7 (A) Mucor
' \—})/Giomus
(C) Rhizopus
EB) Monuscus

-

50) which_chﬂmicaljisuﬁlis.e.d_duxing_theiselattgn of DN A at the
cnd for the precipitation?

(A) Chilled methanol
(_]?) Chilled butanol

\_/(2)/ Chilled ethanol

(D) Chilled phenol

DTS
36 (10) 13
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(MARCH, 2024)

SCIENCE STREAM
(CLASS - XII)

(Part - B)
me : 2 Hours] [Maximum Marks : 50

structions :

1)  Write in a clear legible handwriting.

2) There are three sections in Part - B of the question paper and total 1'to 27
questions are there.

3)  All the questions are compulsory. Internal options are given.
4) The numbers at right side represent the marks of the question.
5) Start new section on new page.

6) Maintain sequence.

SECTION-A
Answer Questions No. 1 to 12 as directed. Each question carry 2 marks.
(Attempt any 8) [16]
_J)/’Explain - Geitonogamy and Xenogamy
2{ - What is sexually Transmitted infections? Give simple principles to control

1t.
3)’--/;?&" rite short note - Phenylketonuna

_4)~ Give the successive steps for DNA - finger printing technique.

5) Draw only neat and labelled diagram of S.L. Miller's experiment.

6) What is withdrawal syndrome? Give their symptoins.
r How the first antibiofic was discovered? Explain it.
.§), _~Explain four basic processes for population density. (Figure is not required)
_9¥ Define Gross primary productivity and Net primary productivity.

10) Drawthe labelled diagram of typical anatropus ovule.

11) When medical termination of pregnancy is needed?

12) Explain the Brood parasitism in birds.

DTS36 (10) 13 PTG



SECTION-B
Answer question no 13 to 21 as directed. Each Question car
(Attempt any six)

ﬂplain the ex situ conservation.
ition.

. , 0s
},) Define decomposition and Describe the processes of decomp
(Diagram is not required)

ry 3 marks. _
- [

15) Whatis gene therapy? Illustrate using the example of adenosine deaminase
(ADA) deficiency.

usy Explain a typical biogas plant with diagram.

17) Illustrate the chart of Replication of retrovirus.

18) Explain - adaptive radiation

19) Give the salient features of genetic code.

20) Explain the internal structure of testis (Figure is not essential)

21) What are cry proteins? Name an organism that produce it. How has man
exploited this protein to his benefit?

SECTION-C

% Answer Question No. 22 to 27 in detail, Attempt any four.
(Each Question carry 4 marks)

&?r)“ Describe out breeding devices in angiospermic plants.
/Zz)‘s.)/bescribe the process of formation of mature gamate in female.
(Figure is not required)
Mescribe_;ﬁejnheritancq_c_z_fﬂ two genes v wilhﬁchg_r_t in garden pea.
25) Explain the process of franscription in bacterig_ (diagral:r_l i-s ;ge

26) Describe Lymphoid organs.

ntial)

27) Describe briefly the following. (diagram is not required)
(i)  Simple stirred-tank bioreactor

(i1)) Downstream processing
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